PAYA LEBAR METHODIST GIRLS’ SCHOOL (PRIMARY)
END-OF-YEAR EXAMINATON 2020

PRIMARY FOUR
MATHEMATICS
Paper 1
Name: ( )
Class: Primary 4

Date: 30 Oct 2020

Total Time for Sections A, B and C: 1 hour 45 minutes

INSTRUCTIONS

1. Do not turn over this page until you are told to do so.

. Foliow all the instructions carefully.

. Shade your answers in the Optical Answer Sheet (CAS) provided.
. All the figures in this paper are not drawn to scale unless stated

2
3. Answer all questions.
4
5

otherwise,
Marks Obtained / Maximum Marks
SECTION A 32
SECTION B 40
SECTION C 28
TOTAL 100
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Questions 1 to 16 canry 2 marks each. For each question, four oplions-are-given. One of
them is the correct answer, Make your choice (1, 2, 3 or 4). Shads the correct oval (1, 2, 3
or 4) orsthe Opiical Answer Sheet. ' {32 marks)

1.

in which of the follawing numbers does the diglt 6 stand for-806%
() 2564 (2) 4825

(3) 5248 (4) 6524 | ( )

Which of tha following fractions is in its simplest form?

3 4
M z @ =

5 8 ( )
® @ S

Which of the following decimals is represented by lefter A in the number line?

I[lllll

||
I LA L L DL B A I

6.01 I 502
A
(1) 8017 (2) 6.023
(3) 6.052 (4} 6.057 ( )
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4,

6.

' 3and 4arefaciorsof_
(1 18 @2 186
3y 24 (4) 25 { )

Which one of the following has'z'ofﬂieﬁgma shaded?

O] )

(3) (4

The figure shown & made up of a square S of side 2 cm and a rectangle R with
braadth 4 cm., What Is the tength of the rectangie?

2cm1' S " Som N
4em R
¥
(1) 9cm {2) 7om
(3) bem (4} Scem (
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7.

8.

The bar graph below shows the number of pizzas a shep sold In the past 5 months.

T — . A RTINS YAt & Ae e puky

e

January

{1} January

3)  Apiil

- Hui Hui went to the fibrary evary 3 days. Pin Pin went to the library svery 4 days.
When would they next meet if they first met at the library on 7 March?

February
‘I which month did the shop sell 70 more pizzas than in March?

March

(2) February

(4) May

_Mon | Tue | Wed | Thurs | FrA | Sat | Sun |
1 ] 2 3 4 5

3] F§ 8 a9 10 11 12
13 14 15 A8 17 18 19
20 | 21 2 | 23 24 | 25 | 26
27 | 28 | 20 | 3 { &

{1} 10 March {2} 1t March

{3) 14March {4) 19 March

3
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§,  What s the missing number in the box below?

3 _M
s <%
{1y 21
(3 35

10, Express ‘E%as a decimal,

{1} 0.09

{3y 109

11. P, Qand R are three points on a map. P Is west of Q and-ZPQR is 136°.

in what directions Is R from Q?
136°
p el
{f} Norfh-east
{3) South-sast

{2) 28

(4) 18

{2} 08

) 18
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12, DivideBby7.
Rowud your answer (o the neatest tenth.

(1) 048 2 09

3) 19 4 12 ( )

13.  The figure below is made up of a ractangle ABEF and a squide BCDE.
The length FE is 3 times the length ED. The sguare has an area of 16 om?,

Find the perimeter of roctangic ACDF.
A . B £
16 cm?
(Y 3%om {2) 3Bem
{3} 4HOcm {4) Gd4em { )
5
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14. The graph below shows the height of a plant rucorded avery Sunday over S weeks.

Tl

Weédk 1 Week 2 Week 3 Week 4 Woek 8

13 :
12 x
1

Height {om)
PP TIPTIE PR PR

Inwhich 1-week period was there the smallest incresdse in the height of the plant?

(1) Week 1 and Week 2 (2) Week 2 and Week 3
(3) Week 3 and Week 4 (4) Waek 4 snd Week 5 { }
6
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18,

- 186,

How many of the lelters below have at least one line of symmetry?

N ORTH

(1) 1 @ 2

@ 3 @ 4 ( )

Minah had $60 more than Priva at first. Then Priya gave $6 to Minah.
In the end, Minah had 4 imes as much money as Priya.
How much monay did Priva have at first™

(1) $30 (2) %24
(3) $22 4 $18 ( )
End of Bookiet A
7
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PAYA LEBAR METHODIST GIRLS’ SCHOOL (PRIMARY)

END-OF-YEAR EXAMINATION 2020
PRIMARY FOUR
MATHEMATICS
Paper 2
Name - . { )

Class : Primary 4

Date + 30 Oct 2020
Total Time for Sections A, B and C: 1 hour 45 minutes

 CANDIDATES
. Do not turn aver this page untll you are told to do so.

1

2. Follow all the instructions carefully.
3. Answer all questions,
4

. Al the figures in this paper are not drawn o scale unless stated otherwise.

Marks Obtained / Maximum Marks

SECTIONB / 40
SECTIONC / 28

TOTAL / 68
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SECTION B Fﬂmmmi&
n this space
Questions 17 to 36 carry 2 marks each. Wiite your enswers in the spaces provided. pﬂﬂ
Fu*quesﬁﬂhéwhm‘raqmmmﬂls,giweyaurmmmemﬂsst&m:,
40 marks) *

7. VWhat number fs 16 more than 88587

Ans: e o i

2 _8
18. 3 "'["'j

What is the missing nuraber in the box?

18.  White 4 thousarniths as a decimal.
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20. 118D X 6=
Ans:
1 3 _
21. 2 * 8
Ans:
22. Round 10.88 to the nearest whole number.
Ans:
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23. What is the remainder when 1020 s divided by 77

BP-743

]

Ans:
24, GOB+3=

Ana;
25. Inthe figure below, name the smallest angle,

Ans: £
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Z26. The bar graph below shows how Sue spent her money.
The amount of money spent on iransport has not baen drawn.

6 10 20 30 40 S50 60 70 80 90
Amount of money spentin ﬂiﬂiﬁrsm

Sue spent a iotal $200. How much did she spend on transport?

Ang: §

27.  Amange the following fractions from the smallest {0 the greatest

111
2'3!513

{greatest)
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Mrs Chandra bought a total of 35 red and green applas. -sz-afﬁmwam
green apples. How many gresn apples did ghie buy?

#rg Chen went to s supermarket and bought the items shown below.
She pald the cashier $20 and did not receive any change.

How much did the botlle of shampaa cost?

Ans:$
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Lo not write

30. Whatis the size of <ADB? In this space

——

31.

Kenny had a rectangular piece of paper, measuring 25 cm by 18 cm,
He cut out as many squares as possible from the paper.
The side of each square was 3 cm. How many squares did Kenny cut out?

25 cm ]
W= =

1S ocm

A I
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32,  Look at the giid balow.
87 iz one side of the rectangle STUV wilh a perimeter of 20 cm.
Cornplete the drawing of the rectangle and label the points U and V,
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33. 'The table shows the number of children who like he diffsrent flavoured
ice creams.

T % 1|

/i1 Straibery | Ghiobotats 2

L

.Ml P

«

38 18 45 ?

1 ‘ . _ .
3 of the children like Vanilla, Raspbery and Strawberry flavoured ive creamis.

How many children like Chocolate flavoured ice creams?
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34, The figure below is made up of 5 klentical squares.
The area of the figure is 500 cm?, Find the length of 1 square.

Ang:

356. Shade only 2 more squares in the figure below, so that the dotted

i

. iy

BP-748
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e o a3 o

e ——

e e bt s

(]
- vertu M A

line AB is a line of symmetry,
A
T~
1 %
w
-
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38. A rectangular place of paper was folded to form the shape as shown below.
Find the area of the rectangular plece of paper before it was folded.

Do not wiite
. In thig space
After folding
10 om
=%
8 cm
L
Ans: cm? r N _1
9
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Far questions 37 to 43, show your working clearly in the space provided for each
question and wrile your answers in the spaces provided. The number of marks
avallable is shown in brackels{ } at the end of each question or part-question.

{28 marke) .

37.  Layla, Kiis and Mary had 610 stickers altogether. Layla had 89 stickers fewer

than Kris. Mary had 42 more stickers than Kris.
{8) How many stickers did Layla have?

{b)  How many slickers did Mary have?

Ans: (a)

)

K}

10
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38.

Ohjects A, B and C are placed on a weighing scafe as shown balow,

1 9
Object A has a mass of 1-5 kg, Object B has a mass uf—ﬁ kg.

A

{a) Find the mass of Object C.

{b) 1) Which object is heavier , Object B or Object C?
i1y How muich heavior?
( Glve your anawers in the simplest forms.)

Ans: {a)

[2}

{b) i} Object

!

[1)

Do not
write In
this
space

"
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Bo not
99. Beker's Factory had a spacial offer as shown in the chart balow, vra;iste in
t
spaca
1 donut for $2.50
6 donuts for $12
(a} Mrs Koh needed io get 18 donuts.
What was the least amount of money sha needed to pay?
(b} Paul had §42.50. What was the most number of donuts he could have
bought?
Ans: (a) 1 E |
i
(b) (3] | ]
S ]

12
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40.  MrHafiz bougit @ tolal of 20 adults and children tickets fo the Zoo for $164. Do not

The prices of the Gicksls are shown below. o
How many children fickets did he buy? space

Kb i 2

13
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41,

Qi‘wer_ﬁadanequaimmofmdm blue marbles, After giving away
75 red marbles, he had 4 imes as many blue marbles a3 red wiawbles.

{a) How many red marbles did Oliver have in the end?
{b} How many blue marbles did Oliver have 7

Ans: (a)

12

[2]

(b)

BP-~755
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42,

Sore 10§, 20¢ and 50¢ coins are used to form the paiterns shown below.

Figure 1 Figure 2 Figura 3

The toble below shows the number of coins and the total value of coiris used
to form the pattem above,

1 i ot

p) 5 $1.10

3 9 #1470

4 : {-ﬁ) (a}...._...__.__..._._ | [1}
(8} Complate the table for Figure 4.

{b) Find the total value of the coins in Figure 7.
{c) Which Figure Number will need 41 coins?

15
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{ You may continue your working on this page.)

Answer: {b) ____ M g-—w_.j
(e} i€l i %

i
I

16
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43.  The figure below is made up of iwo identical rectangular mats ovedapping gg ;9;
f
ench other. Each mat maasures 8mby 5m, The arga of he overiap is 10 m? | 4his
* | 6pace
—
E
5m
Bl ¢

4
4

5m

{a} - Find the length AB,
(b}  Find the perimeter of the figure shown abave.

Ans: () [2 |

W A VR

{b) [2]

End of Paper

17
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SCHOOL : PAYA LEBAR METHODIST GIRLS’ SCHOOL
LEVEL : PRIMARY 4
SUBJECT : MATH
TERM 2020 SA2
7

BOOKLET A

Q1 Q2 Q3 Q4 Qb5 Q6 Q7 Qs Q9 Q10

Y3 4 1 3 1 2 3 4 4 4
Q11 Q12 | Q13 | QM4 | Q15 | Q16
1 2 3 2 3 1
BOOKLET B
Q17) 9008
Q18) 9
Q19) 0.004
Q20) 5950
Q1) 5
8
Q22) 11
Q23) 5
Q24) 9.08
Q25) f
Q26) 60
@ 111
8'5'3'2

Q28) 14 green apples

Pgl
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Q29) $13.30

Q30) 117°

Q31)

Q32)

Q33) 202

Q34) 10cm

Q35)
1 Q36) 10+2+8 =20
| 20%x 2 =40

ans: 20cm?

1Q37) | 89 4 89 + 42 = 22

610 — 220 = 390

(@) 390+3 =130

() 130+ 89 +42 =261

Pg 2
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B | @ 15-2-2
® 5 w75
Q39) | (@ $36
(b) 42.50 —36 = 6.50
6.50 +2.50 = 2R1.50
18+2 =20
ans: 20
Q40) asumme all adult tickets,
10 x 20 = 200
200 — 164 = 36
10-7=3
36 -3 =12
Q41) (@ 75+3=25
() 75 +25 =100
Q42) (@ 13,$2.30
| () fig7 =60cents x7 = 4.20 — 10cents = $4.10
© 11 '
Q43) (a) 6m

®)

8+5+3+6+5+8+3=38m.

Pg3
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